10.

12.

13.

Represent graphically the data about the production of food grains
in a certain region and draw some broad conclusion therefrom :
20
Production in Million tonnes
Year Rice Wheat Other Cereals
199091 46.4 324 36.0
1992-93 482 36.8 384
199495 52.2 39.7 39.7
199697 56.6 42.1 40.8
Answer the following : 2x10=20
(@) Define Mean, Median and Mode.
(b) What are the measures of Dispersion ?
Following is the income and expenditure of a bank for financial
year 2010-11. Represent data by a pie diagram : 10
Total Income (In lacs) Rs. 6,696
Expenditure (In lacs)
Interest Paid Rs. 3,960
Salaries Rs. 1,657
Rent Rs. 488
Others Rs. 174
Profit Rs. 397
Answer the following : 10

A sample survey based on 2800 members of asociety was undertaken
to study their views towards a proposed change in awelfare scheme.
Members had responded as 'yes or 'no' or 'don't know' or 'no
comments' in regard to the issue. The results are tabulated under :

Members Response Percentage of
83% Yes
06% No
03% Don't know
No comments 08%

Use a pie chart to represent the above information, and do specify
their numbers of saying 'yes, 'no’, 'don't know', and 'no comments
in the proposed change.
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SECTION-A
Explain the circumstances|leading to Civil Disobedience Movement.
OR

Why did political leaders differ sharply over the question of separate
electrorates ? 25

Write 150 words on the following : 2x15=30

(i) Why has Nehru in his autobiography been so critical about the
liberals ?

(i) 'Dr. B.R. Ambedkar's versatile career went through various
phases. State briefly the various facets of his life.

Attempt any two of the following (about 150 words) : 2x15=30
(i) Salient features of Govt. of India Act 1935.
(i) Why were Indians outraged by the Rowlatt Act ?

(i) Bring out theideological basisof the Moderate-Extremist divide
in the Indian National Congress.

(iv) Giveanaccount of background and contribution of Ramakrishna
Mission.
Answer any two of the following (about 100 words) : 2x10=20

(i) Why was Salt March an effective symbol of resistance against
colonialism?

(i)  Why did industrial production in Indiaincrease during the first
world war ?

(i) Why a number of Bombay films produced around 1950 were
about the lives of migrants ? Explain.

Write about 50 words on any five of the following : 5x5=25
(i) Aligarh Movement

(i) Parsi Reform Movement

(i) Mandal Commission

(iv) Resolution on Local Self-Govt. 1882

(v) Abdul Gaffar Khan
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(vi) Dadabhai Naorgji

(vii) Lala Hardaya

(viii) Lord T.B. Macaulay

(iX) Fallout of Muslim League's rejection of Cabinet Mission Plan.
SECTION-B

"TheRight to food and food security initiativesrequires an enhancement
in procurement and distribution of food grains'. Critically analyse.

OR

What is Disaster Management ? Discuss the steps required to tackle
natural disasters like recent incidences of earthquake in Sikkim and
cloud bursting in Leh ? 25

Attempt any two (about 150 words each) : 2x15=30
() Indias stand on agriculture issues in WTO.

(il AADHAAR : aninitiative for social and economic inclusion.
(iii) LandAcquisitionhbill, 2011.

Attempt any five (about 50 words each) : 7x5=35
(i) Carbon Sequestration

(i) AYUSH

(i) Difference between CEPA and CECA

(iv) Integrated Action Plan (IAP)

(v) MeghaTropiques

(vi) Basel Accord IlI.

Write briefly about the following : 4x5=20

(i) United Nations Framework Convention on Climate Change
(UNFCCC).

(i) Indiasinitiatives in tackling piracy in the Gulf of Aden.

(i) Recent poverty estimations by Suresh Tendulkar Committee.

(iv) National Rural Health Mission.
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